1084.b) 133 | 11™*2 +12*™*1 zan > 0
an

1) n=0

a, =112 +12 =133

- 133 | ay =133

2)133 | a, = 11™*2 1221

Y
indukcijska hipoteza

)

= 133 | @pyq = 11M3 + 122743
3)aper = 11772211 + 122741.122 = 11- 112 + 144 - 122741 =
=11- 11n+2 +11- 122n+1 + 133 - 122n+1 =11 \(11n+2 + 122n+1)l+ 133 - 122n+1

Y
po indukcijskoj hipotezi

~ 133 | Gps

1084. d) 17 |‘62” + 19" — 2"+1lza n=0
T
an

1) n=0
ap=1+1-2=0
—ay=0

2) 17| ap = 6°" + 19" — 21

Y

indukcijska hipoteza
- 17 | @pyq = 6272 4 190+ _ pn+2
3) @y =36-62"419-19" — 2. 2n+1
(pyq = 262" +34-62" +2-19" + 17 - 19" — 2. 2"+1

=2 (62" +19" — 2™1) +17(2- 67" + 19™)
Y

po indukcijskoj hipotezi

- 17 | anyq



1084. d) 11 | 30™ + 4"(3? -2M-1,

an
Sa,=30"+12"—8"—1
1) n=0
aGp=1+1-1-1=0
->11]ay,=0

2) 11]a,=30"+12"-8" -1,
Y

indukcijska hipoteza
- 11 | apyq =301 4 12041 —gntl _q
3) aps1 =30-30"+124+12"-8-8"—-1=

=30"4+29-30"+12"+11-12"-8"—-7-8"—-1=
=(30"+12"-8"—1)+29-30" +11-12" - 7-8"

Y
po indukcijskoj hipotezi \

DELJIVO JE

- 11 | An+1

e potrebno je dokazatidaje11 | 29-30-30"—7-8" > a’, =29-30" —7-8"

1) n=0
@o=29—7=22
-11 | a'y =22

2)11 | @' =29-30"—7-8"

indukcijskaYhipoteza
- 11| a'pyq = 293071 — 7. g0+t
3)ap+1 =29-30-30"—-7-8-8" =
=29-8-30"+29-22-30"—-7-8-8"=
=8(29-30"—7-8") +29-22-30"

Y
po indukcijskoj hipotezi

DELJIVO JE



